Math 274 Quiz 8 Name:
27 Oct 2017 Show Appropriate Work

Point Values in | boxes |
1. Express the following function using step functions and determine its Laplace transforms.

£, t<1
ft) =14 &%, l<t<4
4<t

Eorwlt-0)(F-8) vu (4-4)(2-2F)
| . +
n b o +C—s<fz<’-3£ 3“({:+l)€ + 6'4’1]{2-63('“ 4)1

3 2
__,L_+-s[ € { l} —45[2 e 1
2 [4 - e— - + e —— -
S 5‘5 51' S

s 5-3

2. Applying the Laplace transform to the initial value problem
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Determine y(t) = £ ~1{Y (s)}, the solution to the given initial value problem.
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